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The particular solution form of y"-2y'+y=xe* is (A) axe* (B) (ax+b)"
(C) x(ax+b)e* (D) x*(ax+be*
Which one is a linear differential equation? (A) y'+xy'+y=x> (B) y'=x*+y? (C)
y'=xy’ =f(x) (D) y"-y'=y°
The integrating factor of the equation Zsin(yz)dx + xycos(yz)dy =0 is(A) y (B) y?
€) x* (D) x*
The general solution of y"+100y =0 is (A) ¢, cosh10x+c,sinh10x
(B) c,cos10x+c,sin10x (C) ce'™ +c,e™™ (D) cx'+c,x*°

100 1 05 0.25 1 00
Giventhat A=|2 0 0| then(A) A*={0 0 0 | (B) A*=|05 0 0
40 0 00 O 025 0 0
00 4 12 4
(C) AT=/0 0 2| (D) AT=|0 0 0
001 000

Assume A and C are matrices. Which one is correct? (A) (A‘l)_1 =A (B) CAC'=A

(C) A=A (D) (AC)'=A"C?

1 2 3 4
Giventhat A= 2 -1 3 1 , the rank of A\ equals (A) 1 (B) 2 (C) 3 (D) 4.
-2 2 =21

Assume A, B, C, and D are four matrices. Which one is correct? (A) AB =0 implies
A=0 or B=0 (B)det(AB) =detA-detB (C) AC=AD implies C=D
(D) AB=BA
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1. Solve the differential equation sin xsin 2ydx =2cos xcos 2ydy .

2. Solve the initial value problem. y"+4y'+4y =0, y(0)=1, y'(0)=1.

3. Solve the differential equation x*y"—20y =0.

05 0 -05
4. Find the inverse matrix A™. Giventhat A=|-0.1 0.2 0.3
05 0 -15

3 4
5. Find the eigenvalues and eigenvectors of A = L 3]

5 4
6. Find a matrix X to diagonalize A= L 2} .



